THSFEEL LXK

SHSEERIRD (OREE) TI-RE (R6.3.313R7E)
EEMA  |IRREERIFIRESR] EED | FBEd AWILFHEH TEH | SER BI |BEFE
AR 12 3 0 0 0 0 3 - 100.0%
Z il 21 13 0 0 0 0 13 - 100.0%
ke 47 31 0 0 0 2 29 - 100.0%
LR 36 25 0 0 0 0 25 — 100.0%
B 143 83 0 6 0 0 77 — 92.8%
KEFA L 0]- — - - -
AR 70 44 0 0 1 1 42 - 100.0%
b F 7 66 46 0 0 0 0 46 - 100.0%
Bz 11 5 0 0 0 0 5 — 100.0%
& 228 136 0 0 0 0 135 1 99.3%
=X-1i 634 386 0 6 1 3 375 -
XRE-EEADBITHRESD,
SHSEEFERS, O REE) 41 75KFmE (R6.3.31I57F)
EEMA  |RREERIFIRESR] EED | FBEdh ALFHEH TEH | SER BI |BFE
AR 44 19 0 0 0 0 19 - 100.0%
Z 3 2 0 0 0 0 2 — 100.0%
ke 28 26 0 0 0 0 26 - 100.0%
LA 22 16 0 0 0 0 16 — 100.0%
Bt 73 51 0 2 0 1 48 - 96.1%
KEFA L 0]- — - - -
AR 14 8 0 0 0 0 8 - 100.0%
b F 7 22 22 0 0 0 0 22 - 100.0%
Bz 8 3 0 0 0 0 3 — 100.0%
& 46 30 0 0 0 0 30 - 100.0%
a5t 260 177 0 2 0 1 174 —
T (RIFEEIR) 894 563 0 8 1 4 549 0
KR BBRE->FER~NDBITHERESD, EFHE 554 HEFE 98.4%
SHSEERIRD 2REE) TIb-RE (R6.3.313R7E)
EEMA  |RREERFIRESR] EED | FBEd ALFHEH TEH | SER BI |BEFE
AR 3 1 0 0 0 0 1 - 100.0%
Z 6 3 0 0 0 0 3 — 100.0%
ke 22 17 0 0 0 1 16 - 100.0%
LR 17 12 0 0 0 0 12 — 100.0%
Bt 61 46 0 2 0 2 42 - 95.7%
KBS L 1 1 0 0 0 0 1 — 100.0%
AR 39 25 0 0 1 1 23 - 100.0%
i 56 46 0 0 0 3 43 - 100.0%
Bz 5 4 0 0 0 0 4 — 100.0%
& 93 60 0 0 0 1 57 2] 96.7%
=X 303 215 0 2 1 8 202 2
SHSEEFERD 2REE) 41 75KkFmiE (R6.3.31I57F)
EEMA  |RREEHRIFIRESR] EED | FBEdh ALFHEH TEH | SER BI |BEFE
AR 4 2 0 0 0 0 2 - 100.0%
Z 2 2 0 0 0 0 2 — 100.0%
ke 19 17 0 0 0 0 17 - 100.0%
L3RR 19 14 0 0 0 0 14 — 100.0%
Bt 35 32 0 1 0 0 29 2] 90.6%
KEFA L 0]- — — - - -
AR 6 5 0 0 0 0 5 — 100.0%
P 10 8 0 0 0 0 8 - 100.0%
Bz 1 0 - - - - — - -
& 68 52 0 0 0 0 52 - 100.0%
a5t 164 132 0 1 0 0 129 2
i (R3FEE2R) 467 347 0 3 1 8 331 4
EFH 34| FEFE 99.1%
SH(RIEE) | 1,361] 910| 0| 11 2 12 880 4
EFH 898 HEF=E 98.7%




